Class IV
Chapter 2
WS-Multiplication (Basic)
Choose the correct option :

1.398 X =398

a. 1 b.0 c.398 d.2
2.25X = 25,000

a.100 b.10 ¢.1000 d.0
3.578 X 495 = X 578
a.0 b.1 c.578 d.495
4. X 789 =789
a.o b. 789 c.1 d.987
5.90 X =0
a. 1 b.0 c.90 d.10
Fill in the blanks :
6.7,650 X =43 X 7,650
7.907X0=
8.13. X1=567
9.55X7=
10. 72 X100 =

Short answer type questions:

11. Multiply 431by 132.

12. Find the product of 502 and 340.
13. Multiply 713 by 50.

Long answer type questions:

14. There are 350 chocolates in a packet. How many chocolates are there in 210
packets?

15. There are 1000 pages in a book. How many pages are there in 25 such books?



